Ajusta las siguientes reacciones, e indica de qué tipo son:
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Mg + O — MgO

C + 0, — CcO,

Al,O; — Al + O;

CO, + Mg — C + MgO

NH; + O — NO + H.0

Hzo + 503 d H2504
Zn + Hcl — H, + ZnCl;
NG + Oz — NCle

Zn + H2504 — Hz + ZHSO4
Cl, + KI - Kl + I,
Fes + HcCl — H.S + FeCl;
Fe(OH)3 — Fe,O; + H,O
H.S + O - SO, + H0
N2 + H> - NH3

CaCO3; — CaO + CO;

Mg + CuCl, — MgCl, + Cu
H:S04 + Na — Na,SO;s + H:;
P+ 0O, — P03

P+ 0, — P05

Zn + .. — ZnO
......... + Oz — 503
H;_O — e +

. HQO — Hg +

HCl + NaOH — NaCl + ...
.+ 02 — CO



